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34431100/1 Linbwhu hdwihy (M) 92 huwin 345000 5 1745.000
34431100/2 LEnUwht hEdwhy (L) 9z huwitn 349000 6 2094.000
34431100/3 LEnuwht hEdwuhy (XL) Q2 huwiwn 349000 2 698.000
18441210 Uwinuijwpwn Qz huwiun 19000 13 247.000
34431200/1 ZEswlhyh hwnwluht wniy Qz hwwn 12000 3 36.000
34431200/2 ZEdwupn]h wijwpughly Q.7 huwn 5000 8 40.000
34431200/3 Puguwdnmulghniiw gnpdhp Gz hwwn 18000 2 36.000
34431200/4 2bnting b wpubljwljuy 9z qnijq 8000 13 104.000
39151180 Pwbbikp nduwnpnlyghuyny uu huin 25200 1 25.200
30197622/1 Emnp A4 Uu wnuth 2520 4 10.080
30197622/2 gnibwynp pnup A4 Uu nniiy 3000 1 3.000
30197621 dihupwipph pnupe Ul hwwn 1800 4 7.200
30199420 tonulubiph pnigp huptwljysnil Uu innith 720 5 3.600
30199430/1 wynufubiph pnuyp uu winuth 1320 3 3.960
30199430/2 uonudukph pnip Uu uintth 180 5 0.900
30197231 prpwwywibwl wnjhkph it (puy) Ul wnuth 1200 1 1.200
30192125/1 dwplkp Uu hwwn 120 100 12.000
19731110 wijwbwpwpuh pk) Uu huin 48 32 1.536
30192232 Jupsnil dwyun] bl Ul hwwn 360 10 3.600
30192730 jwiuhbwghwih punubp 8)18 huin 60 10 0.600
30199238 spuip (A6) uu wnnith 600 1 0.600
30192125/2 gnibwynp dwplkpukp Ul wntth 5760 1 5.760
purpudkip 5079.236
Owrwynipjniliikp
79411210 Gunidubiph punphppunyjwlub Swownipmibbip Ul |npud 80000 1 80.000
55111300 Zynipuiingwijhll Swinuynipynibbkp Q2 npwd 7173600 1 7173.600
79810000/1 dljuwpugpbiph wywgpnipnih UU _ |hunn 300 25 7.500
79810000/2 Frnpwwwbwlubph nywugpnipni UU  |hwwn 684 25 17.100
puunikip 7278.200




